CANADA

L’ANSE-ST-JEAN

1:50,000

.......
g8 2 81D

o

...........
sSgEE£2cococl2t §5E

£S5 35< o EEES Sy 5= 35 8%

© = e

e2S5£022582cP80s8BE S 5§
o e 5 © £ oEsco g

m =
w5 Ee Q2

o (&4
©
acr

QUEBEC

1 0

(=
1000 500 0
[(HHHEHH

o2 G
.......

"R g @ [ =

58¢% 1§ =

$i-c48 ZEEEIGE £ dfg3s

s ® ©°Y s 0o - - W..Ume,nw

.........

ggggggggggg

o O e S She SIE B e B Bas

aaznmumﬂ|..aaadmrr..wn D.%A|aa

......

.. 33 33 -3 2= —= Sy wsEToT o E

w D D rcaaawdmuon.mmn.wlmhb e =
|||||||||||||

%rr%%n.m.mmmmmmmewwmem

aaaaa

h|00.annnanO




